Document type
Assembly Instruction

Document No. Revision

246555 A.01

Production state Permobﬂ
Preform Date Preform By |Approved Date IApproved By Page

2011-01-12 UDN 1

Mounting Co-Pilot for R-net

Item no.: 317694 Co-pilot R-net

List of parts in the set.

1 pcs. handle 1 pcs. R-net cable 1.5m
4 pcs. screws I1SO 4762 M5x12 Fe/Zn 5 pcs. cable ties
Mounting

Read the instructions carefully before starting
installation.

1. Mount the handle on the bracket using 4 x
M5x10 screws. See Fig. 1.

2. Fit one end of the cable to the panel and the
other to the terminal strip for the seat/chassis.
For detailed information about the location of
the strip, see the seat/chassis manual.

3. Secure the cable along the bracket and seat
using cable ties located at approximately 150
mm intervals. Leave plenty of spare cable at the
join points so that the cable is not stretched and
broken. Remember that it must be possible to
adjust the handle lengthwise.

Fig. 1. Mounting the handle.

Cable ties

Fig. 2. Cabling secured with cable ties.



Document type

Assembly Instruction

Document No. Revision

246555 A.01

Production state Permobﬂ
Preform Date Preform By |Approved Date IApproved By Page

2011-01-12 UDN 2

NB! Check that all moving parts can move to their
minimum and maximum position without strefching

the cabling.

4. Check that all the covers are replaced. For
detailed information, see the chair’s service

manual.

5. Load the Co-pilot program.

6. Test-run all the functions.

™D

Fig. 4. Example of cable linked to chair’s terminal

. N

strip.




Document type

Assembly Instruction
Document No. Revision

246555 A.01

Production state permobﬂ
Preform Date Preform By |Approved Date Approved By Page
2011-01-12 UDN s

Montering av Co-Pilot for R-net

Item.nr: 317694 Co-pilot R-net

Férteckning 6ver detaljer som skall finnas i satsen.

1st Handtag 1st  Kabel R-net 1,5m
4st  Skruv ISO 4762 M5x10 Fe/Zn 5st  Buntband
Montering

Las igenom anvisningen innan montering paborjas.

1. Montera handtaget pa fastet med 4st skruv
M5x10, se bild 1.

2. Montera kablagets ena &nde péa panelen och
den andra i kopplingsplinten pa sitsen/chassit,
for utférlig information om plintens placering se
sitsens/chassits manual.

3. Faést kablaget langs fastet och sitsen med bunt-
band placerade med ca 150mm mellanrum.
Lamna val tilltaget med 16s kabel vid ledpunkter,
s& att inte kablaget stracks sonder, tank pa att
handtaget ska ga att langdjustera.

OBS! Kontrollera att alla rérliga delar gér att féra
till sitt min och max lage utan att kablagen blir fér
stréckia.

Bild 1. Handtagets montering

Buntband

Bild 2. Kablaget fdst med buntband.



Document type

Assembly Instruction

Document No. Revision

246555 A.01

Production state Permobﬂ
Preform Date Preform By |Approved Date Approved By Page 4
2011-01-12 UDN
4. Kontrollera att alla kapor ar atermonterade, for

utférlig information se stolens servicemanual.

Ladda in program fér Co-pilot.
Testkor alla funktioner.

Bild 4. Ex pa kablage inkopplad pa
stolens kopplingsplint



